10.8 Ration Test

Cal.culus Name: CA #2
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1. Use the Ratio Test to determine the convergence or divergence of the serlesz n (E) .

n=1

2. Ifthe Ratio Test is applied to the series Z EDL which of the following inequalities results, implying that
the series converges?

n 2n+1 (n+2)n+1 2(n+2)n

A lim e < 1 B lim o<1l G lim=rn—<1 D lim o e <1
3. Ifa, > 0 foralln and lim a;‘“ = g, which of the following series converges?
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4. What are all values of x > 0 for which the series Z n (—) converges?
n=1 x
5. Which of the following series converge?
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